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What was the name of Srimanta Sankardeva’s grandmother?
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(C) Krishnaraja Wodeyar
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. Who was known as the ‘Lion of Mysore’?

(B) Hyder Ali
(D) Tipu Sultan
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. Which State of India has Jallianwala Bagh?

(B) Haryana
(D) Uttar Pradesh
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. Which of the following countries was a part of the Axis Group during the
World War II?
(A) England (B) Japan
(C) France (D) Soviet Union
. TSR Resad AT RIS (e o S (oo SRAmIE e 2
(A) 3T (B) Sl
(C) =™ (D) =IfScEs 2TfEm
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(A) FIE (B) SH
(C) ®E (D) Hiferra ==

. The ruins of Angkor Wat are in which country?
(A) New Zealand (B) Indonesia
(C) Vietnam (D) Cambodia
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(A) Bhutan and China
(B) China and Bangladesh
(C) Bangladesh and Bhutan

(D) Myanmar and Bangladesh
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(B) B S aTICm

(C) I F BT
(D) ST S LT

. BT @I il SPTRE SIS Ao 2

(A) O @ B

(B) BI= ' et

(C) T € THI
(D) SRR € LT

. STETHT el TR aTgisIT fmn Tem?

(A) AT T <

(B) = AT sTettes

(C) STeree R YaH
(D) TIHER AR TR

. 3rem frfafaa @ @ 57 2ot 3wy siafda dan amen s 27

(&) ¥z ¥

(B) <A IR Smere™
(C) IR R YA
(D) PR 3R FFATRH

GET IT ON
Google Play

. Which of the following countries does Assam share international borders with?
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8. If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East
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R 2
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(C) |fvem @ qd &l AR
(D) W & g &l AR
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. What is the Westernmost State of India?
(A) Rajasthan (B) Punjab
(C) Maharashtra (D) Gujarat
. SRS ARSI TS Pl e (T ?
(A) qrEEl (B) “ig<
(C) T=1E (D) %Al
. SICSH AAPSTST A&y (G 2
(A) HrerET (B) &=
(©) T=AIE (D) %MD
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(A) TSI (B) uSTTd
(C) Hewrg (D) ST

10.

10.

10.

10.

10.

Which of the following peaks does not belong to the Himalayas?
(A) Annapurna (B) Kangto
(C) Anamudi (D) Kamet
[CRGIRCRa cn RS OREN GRE R Rk C

(A) s (B) FIBI
(C) et (D) FTe
o (I oL R S 731 2

(A) e (B) Bl
(C) (D) <FIcB
TR w9 fuRatEn feaemt T
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(C) smmgfa (D) e
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(A) =g (B) Py
(C) g (D) FWe
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11. The Great Barrier Reef is located in the seas near which continent?

(A) North America (B) Australia
(C) Africa (D) Europe
11. (3R TROMR AN7[ AR J28 2[E 2B S[Es 2
(A) Te S (B) gl
(C) ==l (D) BTCEI
11. 28 20 @b (b iR 7)) @ TR Febel Tew S[iEs 2
(A) Teq SCAR (B) SCGml
(C) orfzFel (D) 2Tcarl
11. T2 dfeR fb 99 grerm @ity derermE 57
(A) T AR (B) r&fern
(C) riShchr (D) =W
11. U2 sfer O o werg & feke ws 4 for 27
(A) I sTHfh (B) iegfern
(C) ThrHt (D) Fd

12. Which of the following is a mountain range of South America?

(A) Andes (B) Karakoram

(C) Alps (D) Caucasus
12. RS GG 7 SCARPE @ 2w 2
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(C) =R (D) CFOR
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(A) T (B) RIRH
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(C) 3o (D) HTeha
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13. The giant waves caused by volcanic eruptions or earthquakes under the sea are

known as
(A) tsunami (B) cyclone
(C) blizzard (D) landslide

13. RS ofer (Al SRl Traae weE gieE i w9 7). Gl |l =
(A) P (B) 1-sTat
(C) PIR7T® (D) Bfrem

13. Fad Mo SCAAMBIE AT A SRIFC#I9 Tl 8 T2 SIHCSF o1 2
(A) T (B) gifre
(C) P (D) Bfre

13. o et /1 HiEl SRS TS SIRMETEAES ST et SrarhrEt ESH
(A) g (B) smHIETE
(C) % Tgwn (D) = firftrmm=

13. Tgx & 1= SATemgE! fShie a1 o ey % FRU Scae faee qu el S @
(A) g (B) =hard
(C) S®HT qHH (D) sFEerH

14. Who is the Chairman of the Rajya Sabha?

(A) The Prime Minister (B) The Vice President
(C) The Speaker of the Lok Sabha (D) The President
14. SR Y (Fl 27 ?
(A) =z (B) ToRIZfe
(C) TSR S (D) EARS
14. TGP = (F ?
(A) e (B) Tomigeife
(C) CIPTSR S (D) wgeif®
14. TS QAT STHEATRET TRY
(A) TTTETE T (B) <I=TE BRERAMR
(C) gg el Frfif (D) BTERfIR
14. TST T HT e HH 2Ial 27
(A) Ja wt (B) IWIgdfd
(C) wArwawT SAeae (D) Tgafd
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15.

15.

15.

15.

15.

Who administers the Oath of Office to the President of India?
(A) The Prime Minister

(B) The Chief Justice of the Delhi High Court

(C) The Chief Justice of the Supreme Court

(D) The Speaker of the Lok Sabha

S JIFEF (FICT *17® Ao IR 2
(A) ZEeTIE!
(B) W&l T FyRIERE 25 R0

(C) Tohow TRIERE 7 R
(D) CETIPTSR SYH

(F TRCSA AF7RSCE * 912 *[10 FA 2
(A) e

(B) Twall TH TREIEE 24 [oReife
(C) TN TR 24 [kvmeife

(D) CTRPTSR S

IRAT SRRATAT forem aumaiawet 9 e ?
(A) TTETE FA

(B) fagt s fafsrentafs mere fsemama

(C) et fafsrenfats mer femmema

(D) §Y st giafii

9 o TP <l g <6l 399 i feetmar 27
(A) TaH Tt

(B) fagt 3= =mame™ & g =i
(C) Tat= =TT o G e

(D) SARENT 3Teae

GET IT ON
Google Play
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16. Which of the following musical instruments of Assam is usually made of bamboo?
(A) Doba (B) Mridanga
(C) Dotara (D) Toka

16. R[S PR TMRAETHRS (FICH! AHRECS J02cq Fiffe 2
(A) (B) el
(C) Tl (D) B

16. o Tferfie SpIcTa (i ImRED MaEere I fr tofF 212
(A) TRl (B) Iz
(C) crrorst (D) Il
16. TEEE SHE STEMH J SHSEl S SHE?
(A) F& (B) gam
(C) < (D) dr
16. f=fIlitad § @ o18m 1 hi9-91 Gifid S AHAR O 19§ o4 8id1 27

(A) == (B) HaT
(C) ara (D) 2w

17. Where is the Tocklai Tea Research Centre located?
(A) Jorhat (B) Lakhimpur
(C) Tinsukia (D) Dhemaji

17. (GIFeT2 B2 ST (% T SKFS ?

(A) @20 (B) =RwoE

(C) fefpm (D) &
17. (G112 B I8l (% (FIAR SRTS 2

INISIEEY (B) =S

(C) femidrl (D) CHIfes
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17.

17.

ThHATS TTET AR HEHAHT Fe1d &7

(A) SET (B) <&
(C) femgferan (D) St
ZIheTS I ST g el 1ed 87

(A) SiRETe (B) T
(C) femgferan (D) &mrsh

GET IT ON
Google Play

18.

18.

18.

18.

18.

The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?
(A) Uttarakhand (B) Himachal Pradesh
(C) Maharashtra (D) Uttar Pradesh
(oM™ ©qe FRFRT 9Ol (5N Aol (22, (&4 AT TS ?

(A) TEare (B) femoer 2rom

(C) W2IE (D) Teq zom

Al (2P, CoNfam Se FRIFER G0 Sl6l, (Flo A TS ?

(A) Tedrey (B) f2smet 2icws

(C) w2AIE (D) Teq =om

Tfeg o A 3 998 Wil Tar S s TESieAd 57

(A) ITEUS (B) femmra yam

(C) wermy (D) I

Titar Y&, Mfde vaa swEtaa H T g, fhe a7 forg 27

(A) ITEE (B) femmrar yam

(C) wewry (D) I 5=
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19. An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called

(A) Freedom Hour (B) Lunch Hour

(C) Zero Hour (D) Party Hour

19. SR AW (FICl GOl e1q DTS SR Slelell Sfzce 2/ Kww =i S $€<q 1

9 SR AT GEB] TS 6 e (= 2
(A) FE I (B) TIZCSISH FEl
(C) T IeT (D) Wl et

19. (T 46 WeT SIfHC Senpieiie @i {8 b T 2ry/Remefer sret Aomn o4 eReife
2Tl T 2CT #I1CH, S A

(A) FE= I (B) =S Fe
(C) [T < (D). eIsTS F1et
19. YRAH THeE WU SYETH S8 99 el SERastan gifdr/eerar fam ffvmeneram
Torar grN, o e | g
(A) 3eife T| (B) AMSIGH ER ¥H

(C) wfera’ & (D) = |m

19. YR wue § foredt us o7 & o @ fom ot qd 9= < o991 /9 33T S Tk aTel 39 U 6

1 el ST 8
(A) T A (B) WeATE-HISH el
(C) I A (D) ™ 1t
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20.

20.

20.

20.

20.

Who is the Chairman of NITI Aayog?
(A) The Finance Minister
(B) The Prime Minister

(C) The Governor of the Reserve Bank of India

(D) The Vice President

S (NITI) SR LT (GFle 2
(a) foe T3

(B) T

(C) SR Rers @3 =T
(D) Tergfe

TS (NITI) SR ST (S ?
(a) fre =@

(B) @uer@

(C) SRR f{ers FEa el
(D) Toigefe

Fifa (NITI) =T serefien e
(A) T T

(B) TITETS HHA

(C) vty et siepfy TR

(D) ©IST3 BRRATR

Hifd (NITI) =0T o1 278987 SiF 27
INBRESE:EL

(B) W& Tt

(C) Wt fisrd Sk o1 TaT

(D) Swrgufd

GET IT ON
Google Play
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21.

21.

21.

21.

21.

The Numaligarh Refinery is in which district of Assam?
(A) Sivasagar (B) Jorhat

(C) Golaghat (D) Dibrugarh
THEANTT KN ST (P2 e S@iEs 2

(A) fR=eTsIE (B) @_2G

(C) catrmaD (D) fegsrT
AT ISR SPICHR (I (SR ST 2

(A) PRPTISE (B) =21

(C) comeTrais (D) fegor
WA JAferTe omE wemETer o« e g7

(A) R (B) g™

(C) TeITETE (D) fegre
FTettTe frerst staw o fore forer & fedra 27

(A) RrEaEmR (B) SER

(C) e (D) fegme

GET IT ON
Google Play

22.

22.

22.

The international festival Kullu Dussehra’ is celebrated in which State?
(A) Himachal Pradesh (B) Uttarakhand

(C) Uttar Pradesh (D) Haryana

ST TR e TCRI (PITI TS “AleTe] Pl 27 2

(A) T2 eioe (B) Teqree

(C) Teq o (D) =fFzem

AT TR g I (T A AT 272

(A) T2 eioe (B) Tware

(C) Teq o (D) =
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22.

22.

GET IT ON
Google Play

TGS BT ‘Fg SR Wl o eSS HICHT ST ?

(A) Teum=e wau (B) 3T
(C) IW Jem (D) =R
FRER AR ‘Fg e Tohe T | FA11 Sl 2

(A) Tedre wem (B) IWEE
(C) I 9o (D) @

23.

23.

23.

23.

23.

The Bering Strait separates which two landmasses?

(A) Australia and New Zealand (B) The USA and Russia
(C) South Africa and Madagascar (D) Japan and China
@RR 2NN (T B TLEF 72 FCA 2

(A) wEfem o< ey (B) GRS I&A1Z S 1T
(C) wRFa SIFl S TMISTZIS (D) A A< Bl

AR AN (I 4fb FeTeIaCP 7P P 2

(A) wegREmE ¢ fefeene (B) W= Fe=1g @ A
(C) Wi RFpl @ qMIoNZE (D) 17 € B

IR F-FE1 79 A FT-@EE! S ?

(A) el mt i (B) 330 THo o TR AT
(C) e 3TTHehT TR HETTTEHT (D) UM AW ==

afaT STerf-ar R a1 s-rT SR 3TerT SRt 27

(A) sTiefern 3R =ficie (B) GYh T TG 31K &4
(C) afequr hIehT TR HSTTER (D) SUM R ==
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24. Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan
(C) Joi Barua (D) Maitrayee Patar

24, IS (FRCT M Sl Aeq ASPE e 2
(A) oIF fFa (B) Tfey el
(C) =& Il (D) CCas! ~ma

24. *FAG (PRCEH NG Trlawl’ o (F foredees ?
(A) TR fEH (B) ey $23
(C) =7 == (D) CHCaq! “Teq

24, YFS Hid GHE AARM<T HATEH IR ar?
(A) T T (B) @f=red o=
(C) ST s&aT (D) Bt d1eX

24. IS hiak N T T AARMA<T M fohe fora?
(A) T T (B) ®faed g
(C) = =& (D) - TrRft uTeR

25. The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika

25. ST (IIEFT FIf2eT (T4 TG AP ST T <5 2
(A) ST 9 (B) “@ FI= (Tl
(C) @ (23 (D) 7 5F FAGRF

25. SPRIGET (RIS SR (T4 1¢ TSR 2FS T F1 2
(A) ToRT <= (B) <@ 1« (T
(C) B (aIzfE (D) M 5% FASIEPI
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25. EH U T T & e o) gt A
(A) T T (B) Hfer FHR Il
(C) e wirere (D) YT =5 &1 T

25. TAIEH YR T 15 TIMIERT &l e 914 &
(A) T S (B) dfes FUR S

(C) Tem erg (D) FYE =Z TSI

26. Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?
(A) Nabakanta Barua (B) Hiren Bhattacharyya

(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta

26. “BME TE7[E 2B TN Ry ~{[R4e (PICa RIiRwe 2

(A) TR I (B) 23 ©HHR
(C) ST *FIA (D) Sl T 7S

26. (RGCE BT “MBHE FAB%[E T8 FIF (&40 2
(A) TR I (B) 2ca SHHR
(C) ST *BFAI (D) ==l THE 7S

26. T4 AHRA fosE - g% -gE megEd @t ar foai?
(A) e ST (B) Tetd wer=md
(C) WelrgTy Hgihan (D) 39 FAR 3T

26. I h TEdh, ARIE VIR ARG fohe forwdt?
(A) Tahid & (B) f& wg=md
(C) weig 1 Hfeperm (D) 3 FAW &
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27.

27.

27.

27.

27.

Kanchipuram Saree is produced in which State?

(A) Kerala (B) Tamil Nadu
(C) Karnataka (D) Telangana
I[N M8 (P9 TS T 91 2 2

(A) ST (B) 51513119\
(C) F(6F (D) CSCERAMI
Fifees g *MC (e qMCey TS 27 2

(A) T (B) ﬁﬂing
(C) Ffoe (D) CoCaTsAl
T HINE! §o TES(I3ATE fagHi?

(A) T (B) dfHerTg
(C) Tl (D) IR
YL TS 1 IcdTe fohd T | BIal &7

(A) (B), afierg
(C) Tl (D) - T

28.

28.

28.

Who among the following was a famous painter?

(A) Vincent van Gogh (B) John Lennon
(C) Bob Marley (D) Marlon Brando
fRfeTe (@FaEF qee [ Hasq e 2

A) TS5 = o’a (B) & (ST

(C) 3’7 wcst (D) wICef JCl

Aevd (@ ge e oars e 2

(A) fST0T6 S ato (B) &« (&Teld

(C) <9 weef (D) Icefie Fesl
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28. TERE ™ AR el YEdT Fari SARem?
(A) T8 9= (B) 59 @
(C) =9 Tl (D) e STe’

28. F=faifga @ & #19 us uftg Fmer on?
INECAE R (B) ST o=
(C) =i Hred (D) Wi e

29. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent

India?
(A) Lawn Bowls (B) Badminton
(C) Carrom (D) Judo

29. SPE SIFRET IR S wEewi PR R e ees efeftg w0 2
(A) 1’9 I’ (B) @S
(C) &9 (D) &l

29. SPICHR IRl (BIYAT @R TR *BFR (I (I SRCeR 2AfsfiRg Fea 2
(A) T 9 (B) T
(C) (D) scel

29. EMMH AT =gl TR TEAEH FEfRarE YRAH S A7 e
(A) T = (B) ssfied
(©) (D) ¥

29, @A hi AT =Y TR FHEET Gfrn fora @a § wid o ufdfifea s 27
(A) < ST (B) aefie
(C) = (D) S
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30.

Identify the Badminton player.

(A) Dipa Karmakar
(C) Sania Mirza

(B) Pullela Gopichand
(D) Leander Paes

GET IT ON
Google Play

30. (TORIBA (LA DTS 5 |
(A) 7ol PP (B) [Tl Conae™
(C) wfera firet (D) e (e
30. TR RIS e T |
(A) TN TP (B) =&l ConAmm
(C) rifern et (D) fi@eR s
30. sEfired TewmEr At
(A) <1 FHRR (B) geiat TS
(C) @ fosit (D) forrreT om
30. Ssffer faaet 1 vg=niHu|
(A) €T FHRR (B) YoreT Mg
(C) @t forstt (D) feiet T
31. In which sport did India not win a medal at 2020 Tokyo Olympics?
(A) Boxing (B) Weightlifting
(C) Taekwondo (D) Wrestling
31. 2020 HfFe’ IR 150 SHCe (@FAERY (XS (P e e 391 T(Re 2
A) IEgm (B) SIS
(C) BlRcPECS (D) &=
31. 2020 GIfFe TRH4F SO (P (IR MF (SO 2
(A) Tm (B) ISt
(C) BrCPICHI (D) 3f¥
31. 2020 "AETEH ZfheT fAfrs SERERETE YRl 56 Tol-maTd ed WHRa ?
INEEISIREIR] (B) Tifer T@mm™
(C) dTghaTE (D) EHATIR
31. 9Rd 3 2020 TN Afus ¥ f5a et § qgsh Tt e
(A) HEReSH (B) WRIdIeH
(C) driet (D) Pt
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32.

32.

32.

32.

32.

GET IT ON
Google Play

The Diamond League is an annual series of competitions in which area?

(A) Swimming

(C) Gymnastics

(B) Badminton
(D) Track and Field Events

AT fSCRIfare™ 4ol TRE s Sel (FERY (41 PIe v 2

(A) STcoR

(C) fEiE®m

(B) @i
(D) G < fFewq (4a

I 2fSCaIferer @ TRA fefol (P (=T e TS 2

(A) iTem=

(C) femmioeT

(B) TSN
(D) T @R fFeeeq et

T RN SERARAREE B SRS T s« Tem=si G-l 77

(A) HHEE
(OREELEIE

(B) efieea
(D) <% IR BIYRTE T T

ermE o form wat # ufeenfiarsti it weh anfies @ 87

(A) TRt
(C) Temfeeaa

(B) Ssfireq
(D) 2% 3R Fieg T

33.

33.

33.

Identify the incorrectly matched pair.

(A) Stefan Edberg : Cricket
(C) Tiger Woods : Golf

TYACS el &1 @HCH! e F9 |
(A) Brw awanf @b
(C) DiRens Tuw : s

TSI CEICA (e bfze wee |
(A) CHFR qwdnf : fFeFb
(C) Bizsi Tw : o

SLRC—2024/P-111/ 1-A
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(B) Bjorn Borg : Lawn Tennis

(D) Cristiano Ronaldo : Football

(B) fEe1 @9f : 7' (Bfevm

el o
(D) T<RISNCT (SICETT - FHIeT

(B) =1 3of : =1 (Bfert
(D) T&FoIG E@MICS : Foae
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33.

MO sgEEE STRE! fomm |
(A) o weamt : fohehe
(C) 2R 34 : ek

(B) = & : & 2
(D) ffEam’ THee’ : Fead

GET IT ON
Google Play

33. T gAfad Sie 1 qe=nu |

(A) T Tge : fohoke (B) =N &t : @ 2w

(C) TR IH : Meh (D) Terfeeami TATeeT @ Peata
34. Where is the National War Memorial located?

34.

34.

34.

34.

(A) Srinagar

(C) Tawang

IR Jm ST F'T TS 2
A) T=e[
(C) BRR

AP N =TS (FIAR TS 2
INBEIRRE

(C) ®remr

3T IR 99 e o7 €7
(A) R

(C) darat

‘TS 5 Wk el T 27
(A) #HmR

(C) TamT

(B) New Delhi

(D) Amritsar

(B) =g+ il
(D) So7{

(B) T framt

X

(D) e

(B) T fagt
(D) TgaER

(B) = fagt
(D) Aqaat
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35.

35.

35.

35.

35.

GET IT ON
Google Play

Which of the following is the Mission Basundhara of the Government of Assam

related to?

(A) Fishery and livelihood

(B) Women empowerment

(C) Land records and land revenues

(D) Digital education

RIS (@FMGR e P 53T fiee PEal TS 2
(A) TITATER S G

(B) 2w SREpaet

(C) PhiceTy o<e $fil ez

(D) ffechs st

oA LR 0 P TP PTRAN AFH S ?
(A) TR € G

(B) =1 SRl

(C) B wlerel @ S Arery

(D) fEfEbre Mo

I FEERH e Sg-aEn MerE w9t dHear g7
(A) T BRa IR =3 TR

(B) 3T TRIT WA

(C) BT-ITI TR BI-TSIT

(D) fafsreat dietiens

31EH TR 1 fiem s Fefafed § & frod gefia 27
(A) TR AR TSR

(B) HEe STfcheRl

(C) ¥ sAfici@ R oy Ts

(D) feforea fatem
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36. Which of the following organizations is not in the business of commercial vehicles?

(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors
36. RS (@G 2fewm AT A2 IR AT ST 7= 2
(A) oTC=T 9% b’ (B) Zm 9g Ifzm
(C) 6 W= (D) BI5T w692
86. a1 ARG e AT TR TS 7 2
(A) FRCH S Gl (B) wifzm =1 Wiz
(C) cFPf Ba (D) BT GIBa
36. TEAM oo HEHAMT BIATHETN TR MR TET7?
(A) < T gs (B) wfewx T wie=
(C) wd HeH (D) 27T Hed
36. fF=faflad & @ FA-11 ired Ao aredi & e § TE 27
(A) @A T sl (B) wfezn T wfez
(C) i Hed (D) 2T Hied

37. If the pH of a liquid is 5:0, then the liquid is
(A) alkaline in nature (B) neutral in nature
(C) liquid metal (D) acidic in nature

37. @GN o9 “mfq pH T 5:0 2¢e, (12 o9t 2l

(A) P ephed (B) 2 erpfeq

(C) weT 419 (D) wfere agfeq
37. @3 w7 . @3b. (pH) 5-0 3(&, (12 S7@0

(A) = Zgfed (B) fiscors ergpfest

(C) w%eT 419 (D) o epfen
37. Jfe AFE AEE@H pHIT 50, 3TeAT o AEEl

(A) TRE g (B) &

(C) &« u1g (D) wfas smgf
37. v fordt 59 1 flo THo (pH) AF 50 8, dl 98 59 8

(A) Tpfd § @i (B) Wehfd H qeey

(C) @t g (D) Sepfc & et
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38.

38.

38.

38.

38.

GET IT ON
Google Play

Who is the Vice President of India, as on 1st of January, 2024?
(A) Gulab Chand Kataria (B) Ram Nath Kovind
(C) Jagdeep Dhankhar (D) Rajnath Singh

1 SR, 2024 ACHCT Saeq SRIES (i 2
(A) TR 5% oI (B) I N &IR™
(C) oM qo T (D) FrEEne PR

1 QRIS 2024 ACACF SRS SoRIZANS (F 2
(A) (oI BT oI (B) AW =12 (FIR™
(C) oM 44T (D) sl PR

2024 AT 1 SR @rferfémre qraf oieTs gerfifen |n?
(A) TS T] RN (B) T 1Y hid=<
(C) SHTET &Rt (D) Ty firg

1 SR, 2024 1 WRA % ITLAR i &7
(A) TS =@ TRl (B) TM 19 hifes
(C) ST e (D) T g

39.

39.

39.

Which of the following belongs to Class I category of lever?
(A) Scissor (B) Wheelbarrow

(C) Human arm (D) Stapler

Rl @G 22w @MY forerRy wi@sfe 2

(A) ol (B) ¢osTl aIT
(C) a2 (D) (B2l
AT @A 22w @i forega sl 2

(A) o (B) =Tty
(C) TFCT 2© (D) B717ETR
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39.

39.

e o« g ar@ 1 foremfa fafef=r?

(A) @iy (B) e M
(C) AHfa A= (D) WUAR
frefafad § @ F-91 oifer o e 1 Aoft 4 gafed 27

(A) o= (B) e
(C) H=a =T (D) WUeR

GET IT ON
Google Play

40.

40.

40.

40.

40.

The National Flag of which country has a white cross over red background?

(A) Brazil (B) Switzerland

(C) The United States of America (D) Japan

o

T (I STOR AOIFTS 81 “Pefie 391 989 <O &% 5z ez 2

(A) Fnfee (B) DREIRCEIY
(C) NCARF TS (D) &I

(P CTCIE ST AP Tle] “efRes @bfb A & SIeR ?

A) A= (B) YeEREn
(C) WP Fea1g (D) S

EERCERE IR RIEIRICIERIRIE R 2= 0: i
(A) FfSI (B) gEoRCIUE

(C) AR SUTZ BTeX (D) S

fore 391 % T e § AT I W U The i 27
(A) ssfiet (B) fersiels

R

(C) HFh T IR (D) ST
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41.

41.

41.

41.

41.

GET IT ON
Google Play

Which of the following is considered as the earliest compilation?
(A) Yajurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda
TRfeTfre (TG SIBRSCE 7[Ff et el f[eave 41 23 2

(A) ‘T (B) w2’

(C) ‘Ao (D) STHCw’

A FECE 2AfbTen 1 Fer 2T [av T4 27 2

(A) ‘T (B) ‘w2’

(C) ‘4w’ (D) “Tw
MeEH seEt satRges Mfsfm gymam o s gmame get?

(A) TG (B) ‘wrords’

(C) ‘foae’ (D) ‘@mee’
FrfaRaa o @ 50 9e8 gge Geheld M1 ST 87

(A) ‘A (B) ‘a1’

(C) ‘FFaE (D) ‘EmaE’

42.

42,

42.

Which of the following places was a part of the Indus Valley Civilization?
(A) Machilipatnam (B) Babylon

(C) Mohenjo-daro (D) Byzantine

fTffe @R 29 B Sore TR wefs 2

(A) RIS (B) A

(C) CRcEmMICA (D) RCEDR

forcw SfalRe @ 2 b Srrosl Terer s foet 2

(A) SrEferres (B) It

(C) “CEGmICl (D) drECeroizs
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42.

42.

GET IT ON
Google Play

TR 99 ST ey gRA wemta sEmee e

(A) TSI (B) sferer’=

(C) Ae sl ar (D) fermfees
frfoafaa & @ wF-u1 e fay ot avran w1 fewan on?

(A) HelTEH (B) st

(C) HresiEe! (D) s

43.

43.

43.

43.

43.

Who among the following was involved in the Battle of Waterloo?
(A) Napoleon Bonaparte (B) Czar Nicholas

(C) Adolf Hitler (D) George Washington
O] @ FRAERS @R Sive oifkw 2

(A) TR CTI#I6 (B) ficets @

(C) «ow fRbeT (D) &% LG

s e T (@ SIREE 07 TYS 2o 2

(A) TR C@TI#Ib (B) &R fceTe

(C) «Te f2perE (D) & <qIEe

RS T §R HIEET TR e st §7

(A) T s (B) SR 4 @

(C) Teew feear (D) St arferaA
‘et A e | FEfafad ®§ 9 i e on?

(A) SIfeE ST (B) SR fepier™

(C) TEiew feeer (D) S aTf¥FTe
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44,

44,

44,

a4,

a4,

Bhairabkunda is a trijunction of which of the following?
(A) Assam, Bhutan, China

(B) Assam, Bhutan, Arunachal Pradesh

(C) Assam, Bhutan, Sikkim

(D) Assam, Sikkim, Arunachal Pradesh

toPe FEfIRe (@l [Aesm e 2= 2
(A) SPH, $HIF, B

(B) P, O, SECIbe] 20

(C) =P, $o, e

(D) =T, fofe, Sreembst eiom

o (A A FICTa IR (PG 2
(A) P, TOM, B

(B) SPT, BN, SRFATbE 2l

(C) =P, To, Bifes

(D) =PT, TIPS, SReelseT 2wl

WFF-adT e Fel AT SRR TRISHT ST
(A) e, gdd, ==

(B) STEM, M, RO SaxT

(C) smam, yaw, fafem

(D) 31, faferm, Tevmee geu

e Freffiaa # & Frae fisee 27

(A) FEH, M, 4H

(B) 3TEM, ¥2H, €U Jawl

(C) e, vz, fafemm

(D) 7eM, fafed, sTev=a Tat

GET IT ON
Google Play
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45. Which of the following is generally salty in taste?

(A) Snowflake (B) Rainwater

(C) Flowing river water (D) Seawater
45. RIS (@R ETRm A6 FAR 2

(A) SRS (B) I [

(C) @Sl g e (D) ST9RE (11
45. T (@G AKERTS FICH TS ?

(A) TR (B) 3B w1

(C) =ifee «wlq &= (D) ST &
45. TR e TETET TeTe ?

(A) SR®-THT (B) T@1-7I%

(C) Sem guT ¢ (D) @i &
45. ffafga @ @ S9-91 @ie & gmea: THHE g 87

(A) TEweR (B) it =T Ut

(C) =&dl 7t =1 art (D) w95 &1

46. Which of the following mountain ranges is in North-East India?

(A) Barail Range (B) Shivalik Range

(C) Satpura Range (D) Aravalli Range
46. RIS (P AT Teq-51 SHOS ST ?

(A) 912 @l (B) PRifere “fowmen

(C) Tre?[ql 7o (D) SRR RS
46. Tood “REEAMRR Ty @ T BRrS %S ?

(A) @Rize e (B) PRifers ~Recsa

(C) Ao~ Rt (D) SRRfE “Rocat
46. TR e BTSIET AT AT-HHES TRATE 7

(A) SEA BTSHET IR (B) farenfersr g @it

(C) TaYY TS AT (D) 3TRTEC g AT
46. Tfcfad & @ wF-H U=9d @ Yo 9 § 37

(A) wiRer soft (B) Tt aoft

(C) @ageT oft (D) TaEc Tdd 2ft
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47.

47.

47.

47.

47.

Which of the following statements is incorrect?
(A) Lakshadweep is a Union Territory of India.

(B) Maldives is a Union Territory of India.

(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

fffeifee ! Sfe srym 2
(A) FFFRA SR G+ (FHR NPT ey |

(B) weTalel SRed e (T 1o Jrey |

(C) SR S fCPIRa B1ol7)g ©Req G+ (IR =T Jrey |
(D) “[SCh]1 ©Iqed G4 (FRT 1T ey |

Newa @ RIS e, 2

(A) FIFFIR7 SRCST G0 (FHOTS S |

(B) WeTal7l SRCed > (FHHPTS S |

(C) S € CHAE B717]G SIS G (FHHATS S |
(D) oo ©RCeT i (FTHIFTS W% |

erEt 5 forgfmm MR M7

(A) Seafsar wRaH T st Gere TEs |

(B) HreAfgun YRAT T8 firesi G TEs |

(C) 3T=mH 3 T s fgwmamn wyraf 7 s st Tgsi |
(D) Ygaa WAt T8 feesTl g TEs |

frfafiaa @ & F9-a1 o Toa 27

(A) TeTEIT THA T T HAMd T 2 |

(B) WIGTET WRA %1 T haeMiad JesT B

(C) ¥ieHH 3R fHHIaR FIUaHg YR &1 T Had Ja9 2
(D) gerl WA =1 Uk ko e 2 |

GET IT ON
Google Play
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48. The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which

continent?
(A) Asia (B) Australia
(C) South America (D) Africa

48. (I TRACHE T RIFCT, TFAGE (qI1 S FFOE (T 219 (2 Lol ?
(A) @fe (B) =cgfem
(C) Wi SR (D) =fEF=F

48. R, TFAGNE @4 GR FIOGFIG (1 (@I TR 745 [weq Sfoas e 2

(A) @R (B) GG
(C) wiwpe SCa il (D) erIlFpI
48. foge @), W TE! 3T Fehe BEIAT 6 BIRRHTS SRS ¢
(A) Tl (B) rferan
(C) et AT (D) iRt

48. SHERET, HHAET 3R Fehidl fhe TeTET & g ToRdl 27
(A) wRET (B) stiefern

PN

(C) afeaur st (D) TR

49. Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland

49. FRfERS G AR ISET 92 RISy 2

(A) TENRR (B) (IR =31
(C) =i (D) Terceres

49. Iod (I NE TSAET GF(6 77=1E ?
(A) SRS (B) IR @l
(C) =eqE (D) et
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49.

49.

TR SR i Sorg gedy 7 fgu wgen?

(A) HIETTERT (B) =adt fgu
(C) T (D) 3freITe
frefafaa & & &F-31 9g® T5T M &1 U 29 T 27
(A) HEHTER (B) ¥ &
(C) T (D) Tfete

GET IT ON
Google Play

50.

50.

50.

50.

50.

Sudden burst into the open of hot water and vapour from deep underground is
termed as

(A) geyser (B) volcano

(C) tornado (D) tsunami

POIGT TSI #1419 A1 S A7 [N SiRee ol =@l AREbae (il =7
(A) T 2l (B) SICzRfIE

(C) Sefewl (D) pf

ST oS (AT SRR IS 51 &l @R 71 isfs 28310 e
(A) T 2l (B) SrCzafifa

(©) hr (D) Ff

meft ETffer s g g o) @ SR g

(A) forg g (B) i Hi

(C) smETE (D) g

T o & g T g ST AT % ST |2 el ST 8

(A) TR (B) waTermgEh

(C) st (D) g
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51.

51.

51.

51.

51.

GET IT ON
Google Play

Which of the following is not a component of the Constitution of India?

(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre
(C) The Fundamental Rights

(D) The Fundamental Duties

fRfeT® (FFCE! SRws R TAmE 7= 2
(A) T ~IfBeEE e N

(B) % g S&

(C) (Tfers g™

(D) (NferF T

TR @D SReea FRACTI T 7 2
(A) G ~AROERE e Tife

(B) w3 ik wfiem

(C) (Tfers g

(D) CTfTF T

e sea YraH afefsef ser T=T1?

(A) @ Tl AreeTe

(B) Toreanty foremm wmesg

(C) Tfet a3

(D) TfeAT AT FT

frfefad & & #9-91 39 IR & |iaas § T8 37
(A) TsT % Fifg-Feves frga

(B) % o fHe3eh AMTRR

(C) wifeTsh iR

(D) HifcT® e
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52.

52.

52.

52.

52.

A continuous rise in the price level is called

(A) stagflation
(C) hyperinflation

T B99 GHITS Jad (Il 2
(A) BRT®I
(C) wife qureife

(A) frveTor-—RIfe

(C) s q@reife

I AT AT S8 ITATe Rl g8t
(A) TITRITH

(C) TTEINGATRITH

o &R ° fRa gig 1 et s 2

(A) TTRATH

(C) TTEREFAIA

(B) deflation

(D) inflation

(B) SEpife
(D) Jursife

(B) SRFpIfS
(D) JurFife

(B) fewier
(D) FHFRITH

(B) fewtem
(D) FHITH

GET IT ON
Google Play

53.

53.

SLRC—2024/P-111/ 1-A

What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?

(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

IR 2 & e  (DAY-NRLM)S DAY & 3&m 2

(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

40



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

53. o AN S i (DAY-NRLM)-9 DAY @108 F Q-0 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

53. TFA ¥ AEHiags RE (DAY-NRLM )& DAY HT JSHI1?
(A) feafeae afafafefa amr (District Availability Yojana)
(B) dFeamet 31=ded AT (Deendayal Antyodaya Yojana)
(C) eI 3113%%?5 pIEEI (Deendayal Ayurvedic Yojana)
(D) feafede wfawm= ASAT (District Achievement Yojana)

53. UFH U ATSfifaet feM [National Rural Livelihood Mission (DAY-NRLM)| # DAY &
31 77

(A) 5o 3uetsaar ASHT (District Availability Yojana)
(B) €HedTel 3T@ed ASHT (Deendayal Antyodaya Yojana)
(C) dFeaTe Agdfes ASHT (Deendayal Ayurvedic Yojana)
(D) IENIESRIERIEEI (District Achievement Yojana)

54. Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori

54. FEIRS @R TATPT 2[R 9592 (SIS I6+1 FECR ?

(A) To&¥ (B) SETN@ 19 (21T N1
(C) FffrF 2z (D) fafT &Fs!

54. ToA @ TATPIG MEl 9392 (AR AR A 2
A) To&T (B) SETN@ 19 2719 N1
(C) FfAferF 2ifz (D) M7 Grat
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54.

54.

MEEH s« ot 7rdt =+f & auet ferema?

(A) Fg=rd (B) SHIHaG SR &2t HiAT
(C) IR Bife (D) faft fordt
frefetfed & & #H-a1 3u=ma w=eft Tre o R forar mn?

(A) TegorT (B) S/fTd SR &xeT HiET
(C) Tfufer et (D) 73 forrt

55.

55.

55.

Which of the following is not a Central Armed Police Force of India?
(A) Indian Coast Guard (ICG)

(B) Sashastra Seema Bal (SSB)

(C) National Security Guard (NSG)

(D) Central Industrial Security Force (CISF)

Rl (FMebl SReq (TR I S iRl T ?
(A) ORI T7pe TRl (ICG)

(B) [F ST 791 (SSB)

(C) 1Bl 3 oIS (NSG)

(D) TR Srmifa FaErerifza (CISF)

AR (I SIRCeT (PR IR ez w7 2
(A) SRR Toge RSl (ICG)

(B) 1E T 791 (SSB)

(C) B F a6 (NSG)

(D) @R Srmiee Faerer@ (CISF)
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55.

55.

TR So= YRaH e grfermen Tty g a=?
(A) zf<am wE e (ICG)

(B) & fomr s/t (SSB)

(C) M fafwsfdfe mE (NSG)

(D) T=ed T fafrsfife wd (CISF)

frefafaa 8 @ #F-T1 ard a1 FET qerE sTRelt 59 T 27
(A) WA deterss o (ICG)

(B) 93t €M1 97 (SSB)

(C) T granr ME (NSG)

(D) s 3fenfies gram s (CISF)

GET IT ON
Google Play

56.

56.

56.

56.

56.

What is the chemical symbol for silver?

(A) Ag (B) Si
(C) Sv (D) Au
HR AT FRF© 3 2

(A) Ag (B) Si
(C) Sv (D) Au
TR APTRE 2OF Pl 2

(A) Ag (B) Si
(C) Sv (D) Au
TR0 Tt fefFrfom an?

(A) Ag (B) Si
(C) Sv (D) Au
=idl o1 TEmEE g =1 27

(A) Ag (B) Si
(C) Sv (D) Au
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57.

57.

57.

57.

57.

Who is the President of the USA, as on 1lst of January, 2024?
(A) Barack Obama (B) Donald Trump
(C) Joe Biden (D) Rishi Sunak

1 SRS, 2024 ACICH SR JSHE TGS (I 2

(A) IR =7 (B) (TS G

(C) & fces (D) < pTe

1 SRR, 2024 SACoCs TR JeaEs a5eife & 2

(A) IAF S (B) (TS G

(C) ce 2ee (D) M R

2024 TrEeE 1 SgaTR @rferfem smfer sterg g eerfife are
(A) SRR 3TEHT (B) &dlee ZH

(C) & =mged (D) feeft gen

1 ST, 2024 1 T AT JHTEHT 1 TFAR HH 27

(A) = SATSTHT (B) SHIcE TH

(C) S fere (D) =% gk

GET IT ON
Google Play

58.

58.

58.

58.

58.

Which of the following is considered as the powerhouse of an animal cell?

(A) Nucleus
(C) Ribosome

(B) Golgi apparatus
(D) Mitochondria

fafefs @GR =10 @RE e Sa@ el [REva 41 23 2
A) &R &= (B) a’=e 1Y
(C) =TT (D) BB fes
T FELCE 21 @FIET *feq Tt 2o [iawn 41 272
(A) e (B) oIS 3%
(C) AfECAICST™ (D) SBCHIRIG
Terf ssE s Sefgema amm M aife g8 ot sene
A) foefa fire (B) TR Tem
(C) TE='s™ (D) wEe ez
frferfaa o @ ford gy FIT3TRT 1 JTeRETSH WHT STTdT 37

(A) Hsh (B) et oot
(C) TEAEm (D) wTEZERITga
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59.

59.

59.

59.

59.

GET IT ON
Google Play

Which of the following countries does not have a seashore?

(A) China

(C) Myanmar

e (@em orre e[ S 7R 2
(A) B

(C) T

Teod (T OIDe @b (+R 2

(&) B

(C) SRI

TR o6l FTeEl ol & T’

(A) ==

(C) HIFHER

faffaa & & fha 2o & oggde 7€t 27
() =

(C) ™MR

(B) Afghanistan
(D) Iran

(B) SIpaIIfeie
(D) 291

(B) SIpaIIfeIe
(D) ZM

(B) ATHIEAT
(D) A

(B) THITEAH
(D) ¥

60.

60.

60.

60.

60.

The world’s largest island Greenland is a part of which of the following countries?

(A) Denmark (B) Sweden
(C) Canada (D) Iceland
2T IZeN A9, T (PR P S 2

(A) (T (B) D2CwA
(C) el (D) I2Cee
R0 327 @7 [ (@R (o =i 2

(A) (TR (B) 2ce
(C) FIrel (D) SIS
FeaH e 50 frciet a9 SRR aRm?

(A) ST (B) gz

(C) =TT (D) ATEHTS
forva =1 g w21 §, Mecle, form gw 1w 27

(A) <R (B) weA
(C) =TT (D) 3MMEHcTe
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61. Consider the four numbers given here :

I. 376 II. 629

I1I.

921

IV. 397

GET IT ON
Google Play

If the digits of each number are arranged in ascending order, which new number

would be the smallest?
(A) III
€ I
61. e BIfFol R [EIbe 9
I. 376 II. 629

I1I.

921

(B) 1II
(D) IV

IV. 397

2fSCHT FRAT TG THGAS FSCE (B el TR [ TPeToq 27 2

(A) III
(C) I

61. o (e TRMG A [Iven e :

I. 376 II. 629

2Ifefb TR TFBfRIT THGE eIl 26e, (Pl To A0 =Faoy 2¢q ?

(A) III
(C) I

I1I.

61. THME HiFg SFASTHTRITE! TSR & :

I. 376 II. 629

I1I.

921

921

(B) 1I
(D) IV

IV. 397

(B) II
(D) IV

IV. 397

Jfe HHHS SHASATN fSEEHRE! SRR BRETd qmE, Sl §6 MeH  SHSHE ST g

ERIGEISIHICK
(A) III
(C) I

61. & & M IR ween W fa=m il
IIL.

I. 376 II. 629

921

(B) 1I
(D) IV

IV. 397

Ife s WA Bl AR HA T Hferd foman s, @ wia-d = den gud s 27

(A) I

(B) 1I

(S (D) 1Iv

62. Find the odd one out.
(A) Sparrow (B) Crow
(C) Bat (D) Peacock
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62. e *77co! 517 TSferes |

(A) =R (B) el

(C) < (D) < B4R
62. [T e (79 T |

(A) vER (B) <I<®

(C) e (D) =R
62. TR HiaE@! TR g |

(A) @@ (B) =rsw@r

(C) memTfer (D) =r=TE
62. 31t = T |

(A) T (B) @t

(C) =mEg (D) =X

63. Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?

(A) Aunt (B) Grandmother
(C) Mother (D) Sister
63. 937 FCOLEARFS *qOq BRYAC SRR A 0, — (96 Teq P9 (I FIHOOR
QG @ | el =eq (TS (P TN A 2
(a) e (B) wizel
(C) TP (D) =2

63. W3 BRCe *[R-93 fMF Pre F@ Nl I, OF SREEE el INE Preme ¢ g
@ | e e *[e-9F A% T=IFS 2

(A) I (B) Promd
(C) e (D) =
63. MR WRArT SNty oAy mierE g, CRf et R ety emafy eee’ feamer|
TR ST Tty wmeeT @
(A) fome B) fos
(C) form INBEEWACEIEIE]
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63. TF TER H IRA hI AR W A g W] o Fal, 36k W5 o fual W IS 6 Fhalld I
27| wierft, wra @ T yeR wafia 27

(A) == (B) <r&t
(C) =t (D) &

64. If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
64. I ROBOTICST OROBITSC 2517 ¥'T 341 27, (98 PROJECTSY §'T 23
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
64. I ROBOTICS-93 3F® OROBITSC 2, (& PROJECTS-¢F AF® 20
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

64. St ROBOTICS T %81 OROBITSC, 3fsal PROJECTS T &a1 SIm=

(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
64. I ROBOTICS & OROBITSC & ®9 # @hifsd foha1 Sar 8, @ PROJECTS =1 v &9 @
ehie for STam, &% @
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

65. In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?

(A) South-East (B) North-West
(C) South-West (D) East

65. <5l PRAAS Firea @ AT SR o[ FE e | Pired R % wEEe T o
S SCR, FCh! ORMT SIaeTa 2163 FICeT NCg | A9 SIQeco! TORES SQea 2[/1 (! e

9 2
(A) wFEReI-27 (B) Teq-Ifoy
(C) wEe-If*5x (D) 7R
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65. a6 DiEamR Freea <11 qeem 4mm =7 fee | Ficeaa Gvm B wfwed e e 9, [
foora <o 5w e | o1 <61 (e MeTa <1 (e e 2

(A) wiswel-od (B) Twq-#If*6
(C) wEa-oIf5 (D) 7

65. A8 REtferma ' weetien darfy wreii aeeer fiw'f weei aemey ged
BT ST ferarf st wametn | wrenfs wesien faarf sesmid ssfe amer?
INRRCISIRIES IR (B) HT-GHTEI
(C) WrerT-|HTEIy (D) IS

65. T fafeamer # I &1 s, ama o fUsk o qd &l 3R 81 I < TR o 2tk qfarr § o] &l st
B, < <far % R @ ufem i o 31 <frar & TR @ a1 oo o foom & 27
(A) sferor-gd (B) ITR-ufam
(C) =feaur-ufzm (D)

66. At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph
66. RS 12 5. . 1999 @ TW 15 [fFGS 09 A[eE 99 A0S 9w @ore Aq FRE
Mo 2
(A) 64 . fi. afe g (B) 84 f. fi. afs 9B
(C) 48 5. fil. =fs w4 (D) 36 5. fil. =fe v
66. I MY Ay Fo aifers goea 15 s 12 Reanfiom 1w o (e 2
(A) 64 5. fi. afs g6 (B) 84 . fi. afs g
(C) 48 . fil. afs 94 (D) 36 f. fil. =fe 94
66. TN TSTATHETE T8 AT 38 @RS @reer 15 fbfiem 12 o fito e wrmm=?
(A) =veRETE 64 fho fio (B) =vermE 84 fho o
(C) =verE 48 ko o (D) =9eEE 36 foho fio
66. 15 fie # 12 foraimier g forelt TTaea T Tga o fOTT T% &1 &l Tomm ® fofe TR @ =@
=feu?
(A) 64 fho o Tfa =rer (B) 84 foho Hio ufd =rer
(C) 48 o Hio ufa =ar (D) 36 ko Hio ufa =t
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GET IT ON
Google Play

67. Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. bl TP BIG! SSHITS (FRICH X (TS A6 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. I BRCAME TSI (F *[A(0 (T A ?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. HIIHT TS AieE fogsTa o WigE S ST

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. T TS Teaehiet § HIH-T1 W 3fad gem?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
68. Identify the correctly spelt word.

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. T IS MO oS 59 |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. (0% JICT *<M *+S Feee |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. TR 1Y HidEE! Y|

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. T T AT W3 I TR

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
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69. Which of the following words cannot be made using the letters of MENDICANT?

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT

69. MENDICANTS 9[99 214 < FRfire Frics! =< oo S i« 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT

69. MENDICANT-¢F SFafe] B[ FC NICha (e ¥ 90w 1 AR 1 2

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
69. MENDICANT 1 e@wRE SerHH MeR s« Aieew! aFl gren?
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
69. f=feifiad § 9 -9 3¢ MENDICANT o 3{&R Sl ST hich el a-AT ST Gehdl &7
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT

70. At the Youth Parliament, certain number of country representatives sit in a linear
row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

(A) 19 B) 21
(C) 32 (D) 17

70. 951 I AOMS (PRI (7 2AfSHE Wi 9 F Gl ¥ A0 | GEFRE AEFICE
(e WRAIF! NS 02 | GBI ST OBy FTo S A20R | ARCIEAT AW CirieE] v
TS @A 3R | (TN 05 qISTICE 2 BCE FIACl, IF (T ANOR QS
G 01 ~[ SO FTe Sz | BRI SF (TR AGq (R R qRCIe
GBI WER (P FRATE CICS IR | Rl SF FICH WSS WG 24 (P2 f2 =0z | 39
AT oo e (o afefafy af2 =ee 2

(A) 19 (B) 21
(C) 32 (D) 17
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70. I A7, B 2 (e aAfeffia @@ i IR g% AR, WP YRR | A T
GEEIFRR I Mo I WCR | RS, GCEIERE AT S T IO | S, A2
TR 5ol Bt IO | FICl, (Tachd 0 I IR 9. (TN T 5 T 13
(A TOR | GBI 3R (TTNICHA WK (TOeR FR2] ARCHS GAR GCBIRIR T | SCHIE €3
FRITCR W0 Mg Q&6 0P TR | IF AT G5 I ¢ 90T ACACR 2

(A) 19 (B) 21
(C) 32 (D) 17

70. - AN HEEd TR BEH AHRI ARITBRET ARl SHW - 9ER - wiEre e |
weq et sty wiver’ amfaeR fSweet | fefsen e fanf sfatstsm aeafeeme | ememn
A e eE sforma SRRl wEErn S iy Aeier e e aiii
e ermfer mfeEna €| e T 3T TR TSRIa S B €, dTetsd TR U R
TSRS THATSHI | 3T AT 3T TSI o Teed gl el | Tl el 2ot arewrT o

RIECIEREC RSP CE
(A) 19 (B) 21
(C) 32 (D) 17

70. o1 G6e ° F© Mi¥q @@ 4 o o gy v el 9fd § 93d § 3R @i awiel 3R 4z
Fh 93 B T | TR Y 1 I et a8 Ak 98 ¢ | fhsft, TR i 51 iR smed wH W
B e, T804 % o A NS T W B | FATSI, AR % ik o1 3R Aa1 2, 3R SHm ufth %
ifom o BR ¥ R T W ¥ TR R S F S Aml it g sl o R uet &
THM 2| ST 3R 1Sl o ot hael B8 99 92d ¢ | ol Heieht fohd- 991 a1 9o | 93d 87

(A) 19 (B) 21
(C) 32 (D) 17

71. Which option is similar to Pencil : Student : School?

(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank

(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
71. @O RFe (oifdest : Brmal . Rwer sasa 1 2

(A) ﬁﬁ:wwﬁ@ (B) I#TOR : [l : @F

(C) I : (&1 : ol (D) <19I% : (ARl < ST

71. @R Rl e : wa : oEr-9a s 2
(A)?@:Wq:ﬁ@ (B) F[EOR : SRS : =
(C) T : (E19 @ 93 (D) <5 : (RIS @ 79Ty
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71. 99 a1 of e e - woEETe S gRE Y

(A) TAS : ST : foregpe (B) HHER : Hia@ filt : s

(C) W : ferfiit - forerma (D) & T : TARR : S
71. -7 foehed U : B : T & THE 27

(A) =&« @ fafene (B)W:Z%Tf\%ﬁlﬁza’%

(C) oM : @ : Tohara (D) e : HMER : AHH

72. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is
incorrectly paired?

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

72. 3 REAR = 42, TEAR = 44 9 DEAR = 28, (98 (RS (FChl (@9 8% 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

72. M REAR = 42, TEAR = 44 43 DEAR = 28 2, O3 <II(b4 (FFMD T91 (Sl 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

72. §f¢ REAR = 42, TEAR = 44 3l DEAR = 28, 3scll MM e ST o1 U S&i ¢

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
72. ¢ REAR = 42, TEAR = 44 3fX DEAR = 28, di f=fdfad @ & SH-91 92 Tad o+ 4
Sirer T 87
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

73. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?

(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE
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73.

73.

73.

73.

G M 77 IR TR RFech! el 7
79 : SIS el ¢ 2

(A) S (B) fFerl

(C) o™ (D) =/

O 7Wfb 7eTa S ORIl RKpmfs e -
@:Vﬁﬂﬁ%::ﬁﬁ@f: ?

(A) =™ (B) 32

(C) o (D) =’

S FiEeE! 317g QemAl qareq e e’ :
ST Y G 7

(A) @ (B) fomm

(C) Tr7erg (D) T

31fem 98 &l W o forg wam foaere @ifvm
QH:EIT&I'&‘I::W:?

(A) e (B) g

(C) ™ (D) w1

GET IT ON
Google Play

74.

74.

74.

74.

Identify the pair with the same relationship as Child : Vaccination.
(A) Fever : Medicine (B) Food : Cooking
(C) Plant : Pesticide (D) Animals :

e : BPIeaeE TP TS @HICH! e 5 |

(A) &9 : 87y (B) A : I

(C) Tfew : Foarre (D) &% : ¥W

g : Hereael-99 TCO1 42 540 G TS 9+ |

(A) =9 : 87y (B) I :

(C) Tfew : Joams (D) 21 : 4w

Ty’ TGRAE SRl dHEl T S R

(A) AHSTHE : gfa (B) &R : T

() e : Tl s (D) e : SRR
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74.

T : IR o HH a8 9T SIS ahl Gg= hifer |

(A) FER - <o
(C) e : hieATh

(B) @M1 : 9ehrl
(D) W : *ISH

GET IT ON
Google Play

75.

75.

75.

75.

75.

Which of the following words would not fit correctly in the sentence?

The person died of a

hit on his head.

(A) lethal (B) fatal
(C) deadly (D) subtle
fTfeIS (P =% 2e IFICHTS A7 AR 2

O ST TS e Ty (202 |
(A) AR (B) elerarel
(C) RIS (D) 97
RS AR IS (I N[ AR N @3 00O A (@R K0 AT e AR’
2
(A) R (B) dreraret
(C) =TS (D) =
TR o6 el Arie SHE ST ETe SHE TST7

I ARG WAE IS 9|

(A) firgema (lethal)

(C) fIgng (deadly)

(B) w9 (fatal)
(D) 3 (subtle)

frefaftad § @ 9-91 3o 919 § g @0 9 fhe 7t an?
frw __ wer 9 =afe i A @

(A) =T
(C) "

(B) STHetan
(D) Ha

76.

What would be the correct sequence of the following words as per the standard

English dictionary?
1. Royal

A) 1,2, 3,4

€ 4, 2,3, 1

SLRC—2024/P-111/ 1-A

2. Regal

3. Renal 4. Rebel
B) 4,3, 2,1
D) 4, 3,1, 2
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76.

76.

76.

76.

TP 2RI SfSH P 278 *PTRd & *RUEACH! 6 2'7 2

1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2, 3,4 B) 4, 3, 2,1
C) 4,2, 3,1 D) 4, 3, 1, 2

4B S B SG4TSR 27S B AOF @ Bl 204 2

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
< 4, 2,3, 1 D) 4, 3, 1, 2

T HTHT 30 e fogeTd aW™ aied 16 ST |/ ST ¢

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 (B) 4,3, 2,1
€ 4, 2,3, 1 (D) 4,3, 1, 2

HTeh TS IR o TFHR I A1 bl Tl 3hH AT BATT?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
< 4, 2,3,1 e § -

GET IT ON
Google Play

77.

77.

77.

Select the appropriate number to correctly continue the sequence 27, 30, 37, 50,

?, 98.
(A) 69 (B) 73
(C) 81 (D) 91

27, 30, 37, 50, ?, 98 *RYFH W&(F NBIRE A GRS AR +J67 393 |

(A) 69 (B) 73
(C) 81 (D) 91

27, 30, 37, 50, ?, 98 @b T BRI @Ce T RYIG =15 et |

(A) 69 (B) 73
(C) 81 (D) 91
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77. GG TS SAEATRMT STSAE SFSHE gEd |
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

77. A I TE T W SR W < fore 3fed T w1 e i)
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

78. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?

(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three

(D) Cannot be determined

78. AEAIQ W& T @ OE (s ¢¥, [$7 qmAee ¢4 MoR Wi @ omde e e |
(SSTHF THO| HoR=FS IR (HICh T3 717 2

(A) 7RI PR (SfoetE BI%[

(B) <1 S Ceiieq Twel I

(C) Fare SIS _ICSISF €4

(D) ey 7 af

78. *[F FracE ceifed (o o1 e MRk e, R Frel, @ o@AR 6 I O S (@ oAl

T | OI TSl e S (PG @ T 2

(A) °[E SN2 Ceied (50 4ol

(B) @1 @R (efe @2 ThHoR

(C) T fomerced Seay e

(D) Teefme =1 T =1
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78. UgsEn mew SAfdtge A S ar, Tuw ugsitgg Sifee Raarn ageift amaen e
BT THfeT | forER Siergel A e ser 6 ¢

(A) ugsrn safafigs TEfEem
(B) ugsll 3T Safd=m wwe TSh
(C) Toyamn wramfs Toe shfe

(D) AT E
78. g, ST & Tt & HT qET HAl B, Al {THar, S uget ¥ ool 8, St ® 7R gt mea 2
IRt S o o § frefeifad § & @ et ST Hehdr 27
(A) ugdt i w7 @ sfa @ 31 2
(B) gl 3 sfq Y «feE a9 ®
(C) oar =t & we@ isft B
(D) &= &l feran S geat

79. At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?

(A) Aunt (B) Daughter

(C) Niece (D) Sister-in-law

79. ICETGT GF TP AR GO (ST SgPRE W, ‘(08 (|F M2 TZq GFIE TG
S’ | TR CTCS SSCToreq Wred T54 5 2772

() 43 (B) Sl
(C) eIfart (D) T

79. G ICECHT SR, TNE GG SfeTor e Bfere Feq qeelecer, fofd wmm =rsfby
GG (ZCTA O’ | SO S FeTE M Froid TP 2

(A) (B)
(C) =Ify (D) =T
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79. TH BHEICTHIH THE SETEEE WA GGl foemm guam, o onfy fogasnf
e’ frarery fomme ™| SR fomTStt wetreT W1 g SR
INIRELIE (B) et
(C) forme (D) forrT

79. TF HicS GHRIE H, TAICT § Tk STEAT 1 3T TR FAd g Fal, a8 B A % Fohaild 9
oqiett 77| ST s AT 61 AdTeT O T Hey Y
(A) == (B) &
(C) WSt (D) &

80. Find the best option to fill in the third term :
Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system
(C) Rocket (D) Radioactivity
80. PO “MCHT 7[R9 FRACe TS Rpmch] oo v
T : To 2 2 : PRI

(A) TS AL (B) TS Fm
(C) TCB (D) (@&l

80. TR “Mfb 7R &1 O KpafD e
Tegeer « fISh ;2 + (FIefRer

(A) & AERE (B) AT ©oF
(C) AT (D) (TSl

80. UMY WEIEE! ATg WA Arafeq et e’
WW:%::?:W
(A) & TREREE™ (B) Tfasraf=s @t
(C) The (D) et wmnfy
80. T g &l WA o foTu Haraw foehed @I -
W&W:W@?::?:Wﬁ?ﬁw
(A) T qRE=R (B) GI-hiseh omeft
(C) Tehe (D) Yeafifar
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81. A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is

(A) 16% increase (B) 16% decrease
(C) 32% decrease (D) No change

81. (I GBI TRYTF 22 40% I 41 27 SF ©F 'S 40% P F41 29 | *oR¥ ([T
TREICHR J2 ARG (22

(A) 16% I (B) 16% 3P
(C) 32% 3™ (D) SRaee

81. &I AT 40% I T W @R FIGICS 40% M F41 27 | <ok ffae swanfoa @b

e 2e
(A) 16% I= (B) 16% Z™
(C) 32% 2F (D) w-ifsafee

81. Jaa HHH foam=a! T 40% SR SR 3T 399 40% THRAT S| ST o foamE

3T HIAEHTT STt
(A) 16% del (B) 16% @H &l
(C) 32% @H &t (D) S GeTRRe

81. T T H 40% hl gfg il 5 3R 3Hh 918 40% el & 75 | F&A1 H g IRaa wfaera 2
(A) 16% i gfg (B) 16% @hi =Ht
(C) 32% it =t (D) @I FeaTE T

82. If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years
(C) 50 years (D) 45 years
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82. I A, B ¥ C F 91T I 22 IF ¥ B WF C J 9T I 25 I, (93 Gfeq{ #[41 9 q279
ree A3 W 27

(A) 25 929 (B) 35 9=
(C) 50 q=F (D) 45 3=

82. I A, B € C-93 5T¢ T 22 7 €} B 8 C-9F [T T 25 I27 2, O @3+ (AF 9 =
7 A-99 T F© 3CF, [l T |
(A) 25 = (B) 35 =4

(C) 50 <= (D) 45 q=7

82. §fc A, B 3 C T 7T d™isn 22 dER 3 B AR CH T S@isN 25 d€Red], 9 MR 3d

AT ST S8 SH?
(A) 25 SR (B) 35 SR
(C) 50 =ERr (D) 45 =ERr
82. AfG A, B 3R C & 3fua 3117 22 98 a1 B 3R C &l 3f9d g 25 99 2, @ 318 ¥ 9 A a8
A Sl 3T J1d shifS |
(A) 259 (B) 35 @9
(C) 50 = (D) 45 =4

83. The smallest among \g, \E, \/E and \E is
1 1
w [l o [l
1 2
(©) \/; (D) \g

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-A 61 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

83

83.

83.

83.

1 1 [1 2 .
\g, \g,\/;w\gomwmmm
1 1

(A) \g B) @
() \E (D) \E
1 1 1 2 .

\g, \g \/;aq\\g G Ty U A 2

(A) \E (B) \g
(C) \E (D) \E
\F \F \Faﬁfﬁﬁmwﬁ@yﬁm

2" \3" V4 3

(A) \E B) \/g
(©) \E (D) \E
P L b e 2 e
2’ \V3’ V4 3

(A) \E B) \E
© [+ o 2

GET IT ON
Google Play
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84. Iffzgzg, then XTYTZ i5 equal to
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
84. zﬁﬁ%=%=§,mx+g+zami’a
(A) 2 (B) 3
(C) 4 (D) 5
84. zﬁﬁ%:%:%m“i”—mw
(A) 2 (B) 3
(C) 4 (D) 5
84. 3R X =Y - Z smen XTYTZ o gum wmim
3 4 7 z
(A) 2 (B) 3
€ 4 (D) 5
84, g XY _Z XYY o gnm
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5

GET IT ON
Google Play
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85. Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is

(A) 18 (B) 20

(C) 22 (D) 24

85. YT 2 1 3 FIAOS (B IAF PEeq oS, FF LB, -F A<EFE 96. L 91T
o

€263
(A) 18 (B) 20
(C) 22 (D) 24

85. 7> MRYA TGS 2 : 3 G3R OIWA 8. G- FAA.B.-F BT 96. R {ioa (9RFeT 2
(A) 18 (B) 20

) 22 (D) 24

85. WM+ fommf sgsmamn 2 : 3 9 fomrA oA I g.snE. i aEsreTeE 96. 9 foww

A FHSITSTET ST
(A) 18 (B) 20
(C) 22 (D) 24

85. 3 TEAM 2 : 3 FIU H T I 39 HeqW THUEGH R TIqd THUEE H1 PHGA 96 2| aMl

13T 1 A 2
(A) 18 (B) 20
(C) 22 (D) 24
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86.

86.

86.

86.

86.

The value of %82 is
(A) 1
(C) 2

%/873 T 2’9
(A) 1

(C) 2

¥82-47 7

A) 1
(C) 2

¥s2 4 amm

(A) 1
(€) 2

82 mam
A) 1
C) 2

GET IT ON
Google Play

(D) 4

(B) 3
(D) 4

(B) 3
(D) 4

(B) 3
(D) 4

(B) 3
(D) 4

87.

A certain amount invested in a firm would become double at the end of one month,
but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is

(A) ¥55
(C) ¥270

(B) ¥O
(D) ¥45
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87. (I 9T TP foviTe & R IRcE a¥=g @ @@ 47 1@ AR 2w, 57
AfSRICHICa AfOq 4o 7@ ='csi T 120 b A0 | G Jieez G2 dfepie & 105 R
A IE (FICA S [T TP DA 3 T2 b1 flcd | 3 W2 WS [e2Seq J0 IR

(A) T35 (B) ¥O
(C) 270 (D) 45

87. &b B ~IfFwa o1 «Ffo =P 2fevica RN T @ e[ 1@ Bsd 3@ 7 8 ofe
Qe €120 (G @1€T || GI& Ffe T 105 [RE@e @ @32 @i wfeae wifqwe
RfScst <1 ¢g 3 TPT @0 (@ | 3 WO (AICF ©IF (W16 SR 3¢

(A) €55 (B) ¥O
(C) ¥270 (D) ¥45
87. UHH WA HHAME T IAYHS THA SHEAMETE o TST HHEA S| AR HHEA SEHHeT

HHAAT € 120 G I A ARG | 98 GIST & BIA FHAEE & 105 SH IHT AR SHall 3
T BIeueEH for o et g 3 @nfaat | & 3 T4 3 faerify g s sme

(A) ¥55 (B) ¥O
(C) 270 (D) ¥45

87. TH w1 # frawr i mE uw ffda Uiyt wh wER % 3iq 6 g 2 S, AfE 3en yds < W
& 120 sl Tl e off Sl 81 Uk ufth 3@ WH 4 € 105 w1 (e swar & 3T for foet erfafn
Tfar &1 e RT3 wE 9 SR T@dT 2| 3 HEH o 37d H 3Heh! 6 3 Bt

(A) T55 (B) €0
(C) ¥270 (D) ¥45

88. The count of prime numbers between 80 and 100 is
(A) 2 (B) S
€ 3 (D) 4
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88.

88.

88.

88.

GET IT ON
Google Play

80 ¥ 100 I TET® ST (NfeTss 72 (F35! 2

A) 2 (B) 5
(C€) 3 (D) 4
80 W3R 100-9F ¢ T[FS (Mol 74N FM 2

A) 2 (B) 5
C) 3 (D) 4
80 W 100 T TSa Hi=e™ Ter 3HfSHT g7

A) 2 (B) 5
C) 3 (D) 4
80 3T 100 o &= 319" g3t hi fimdt 2

A) 2 (B) 5
(C) 3 (D) 4

89.

89.

89.

Find the value of [(107 +102)+ (103 +1072)]+=10>.
(A) 100 (B) 200
(€) 2 (D) 1
(107 +102)+ (103 +1072)]+ 10° T T fefy <5 |
(A) 100 (B) 200
(€) 2 (D) 1
[(107 +102)+ (103 +1072)]+ 10°-9g N fosfg <ot |
(A) 100 (B) 200
(C) 2 (D) 1

SLRC—2024/P-111/ 1-A
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89.

89.

[(107 +102)+(10% = 1072)]+ 10° 7 7 fag|

(A) 100 (B) 200
(C) 2 (D) 1
(107 +10%)+ (10° +1072)]+ 10° = M J1d FfU|
(A) 100 (B) 200
(C) 2 (D) 1

GET IT ON
Google Play

90.

90.

90.

90.

90.

If A:B=23, then 144A : 36B is

A) 4 (B) 12
(C) 3 (D) 16
I A : B =3, (93 144A : 36B 3 T+ 29

A) 4 (B) 12
(C€) 3 (D) 16
W A : B =3, O 144A : 36B-7 T I

A) 4 (B) 12
(C) 3 (D) 16
¢ A : B =3, 3%l 144A : 36B T 9m1

A) 4 (B) 12
(C) 3 (D) 16
afd A: B=3,d 144A : 36B & 4H ¢

(A) 4 (B) 12
(C) 3 (D) 16
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91. The fraction equivalent of the recurring number 2-19 is
271 217
A) —5 B) -5
99 99
219 291
C) —— (D) ==
90 90
91. C*M3?[feis RN 219 9 Fgen 21N (2R
271 217
(A) —= (B) =—
99 99
219 291
C) —— (D) ==
90 90
91. IS YN 219 -4 F@ely I 23
271 217
(A) —= (B) =—
99 99
219 291
€) — (D) =
90 90
91. 219 NEIURAE AEABE SR THE SRaE @ieal Te
271 217
A) —o B) oo
99 99
219 291
C) —~ (D)=
90 90
91. 3ad GEAT 2 - 19 FI THIA 3 I
271 217
A) —5 B) -5
99 99
219 291
C) —~— (D) ==
90 90
92. The largest of 26, 35, 4% and 5° is
(A) 26 (B) 3%
(C) 4% (D) 53
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92. 2° 35 4% w53 FANFEHR A AR FLACH B
(A) 26 (B) 3°
(C) 4% (D) 53

92. 2°, 3%, 4% @k 53-97 Wy JTEAH 27

(A) 26 (B) 3°

(C) 4% (D) 53
92. 2°, 35, 4% am 53 T e

(A) 26 (B) 3%

(C) 4% (D) 53
92. 2% 3% 4% 353 4 us@ W B

(A) 2° (B) 3°

(C) 4% (D) 53

93. For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is

(A) 7m (B) 14n
(C) 21n (D) 28n

93. «oF HIEFE A2 CFge 4l A @ (9¢ ¢eers ol o o WReE bR
SABFICOIE T4 3 16 e | A BiRcFer b AP 70 6. . 27, (98 *lewe™ 1060
3Tfef “[F® BRCFATIC [FAE 712 (W6 95e) wfowy Bieq 2
(A) 7m (B) 14n
(C) 21n (D) 28n

93. T R WCARE CFca =1 IR @ g6 ~cee o 7eel ABCHCER AN BIPIE el
e 7)ol =7 | AW AREER R AP 70 G, WL =, ©@ 106 T wiceca AEceoa

wfeay 391 79 ([WoIea) e
(A) 7m (B) l4n
(C) 21In (D) 28n
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93. U TTEehdl AT Jofe, forl Uearet @a 2 Or fhidsar, fmfy aremn w= 3 arfifeet) gfs
HTEehdd M@ @@Em 70 ¥, f1. S/, 3fsen Yo W 10 GR hiisen, @gshen s@ MW

(forerma) @ReATTH?
(A) 7m (B) 14n
(C) 21In (D) 28n

93. U HiEfhal TaR & folu 717 3@ o {6 wedes a1 qui Yefom & forw weferat 1 emmem afgan 3 qui
TS ST 2 | 3¢ Trsfeher o ufed 1 B 70 Wo Hio 7, @ 10 wui Usfom § wmsfa s @ A

Tl (i H) ®
(A) 7m (B) 14n
(C) 21n (D) 28n

94. The base and the height of a right-angled triangle are equal in magnitude and the
length of the third side is 242 cm. The area of the triangle is

(A) 2 sq. cm (B) 242 sq. cm
(C) 4 sq. cm (D) 442 sq. cm
94, bl A faged BN S Tho[ K M S porcol 24 (i 242 (6. . | fagEtE
|
(A) 2 3 ¢o. fi. (B) 2+/2 3o 5. fil.
(C) 4 3sf ¢v. f. (D) 4+/2 35f ¢5. 3.
94. 36 TNFA fagren P ¢ Twor AR WA g ger qr=w oy 242 ¢ [ 1 fagwita
CHaTE 2E
A) 2 3sf &1, . (B) 2+/2 3sf 1. 3.
(C) 4 3of 1. f. (D) 4+4/2 3o 1. fa.

94, O WATY STEAHE gEl 0 SHUEH Mo e AW o 3fa smeafef =z
o2 4. .| 9 smErfHgmi wifern

(A) 2=t @, fa. (B) 242 =t @, fa.
(C) 4 =t @, fa. (D) 4+/2 =i &, fi.
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94, TH GHHI P 1 ER 3R IHAT S48 T § Ser ¢ 3R diadt s i wars 24/2 "o Hio

21 Bgs #1 @awa 2
(A) 2 =t Fo o (B) 2+/2 @i ¥o o
(C) 4 =t Wo o (D) 4+/2 =t Fo o

95. In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is

(A) 35 (B) 42
(C) 49 (D) 56
95. 19 *[l SIH8 41 WS TR (PICT @51 ARPIS 2AMS AP FFENCE Ja Fyy| Sireaz o
2'e | SEE AP 2= 761 R Rl $9 77 | G2 751 A P I (>
(A) 35 (B) 42
(C) 49 (D) 56
95. 1 iy W 2o ST MRS AP (AP M (&T TR AR (Tl 207 | JABYR (AP
a1 7f6 AR fCv 1 2 | G 706 TR IsIFe 221
(A) 35 (B) 42
(C) 49 (D) 56
95. 1 S Yiea dW FEfm aRfeE TH S SHSETERE @A ST | TR T
fomfa w9 7 SFSETERE S AR S 7 SRR S Se
(A) 35 (B) 42
(C) 49 (D) 56
95. 1 ¥ IE TH dTcll FMaR Teed 6l S@en #, wft a0 @ed g1 < 9t &1 99 § | yum
7 g W =R HIY | 3 7 g & A g
(A) 35 (B) 42
(C) 49 (D) 56
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96. Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is

(A) A(A+B) (B) 4A-B)
©) A48 (D) 4AB

96. YOI MM A WIF B I @S 3o A€ C CFII[I1 ’# | 78] BIofe AT 2} B [l 39 35
FC D AT | C-DF A TFE BT A FCE AFRIPCE! 2°9

(A) AA+B) (B) 4(A-B)
©) f:rB (D) 4AB

96. TG =T A € B (F AW @I T =W 4R T5f F¢I C 1SN AW | 7{IS! 4¢?l A (/e B [l
T 2 @R FoAe J5f FACE D /NS AW | A 8 B-9F A2 RN C — D (F 4™ FAC 203

(A) AA+B) (B) 4(A-B)
©) A4B (D) 4AB

96. A 3 B IANHME! IETEAH AR @ & g ¢ A | A wifEa B @t A fwm
gmE T faf fafs & fagaem D a9e/ | C - D @ A 3R B foceme himEsa

(A) A(A+B) (B) 4(A- B)
(C) Af (D) 4AB

96. C UH %4 & foTu Ugat 31 H&A3T A 3T B bl SNl Sl @ QT 3961 o1 fohaT STl 2| 3Tl =R/
A, AW ¥ B &l 921 ST @ 3 D " 1 & fow 39 aftory =1 ot foean strar 21 9o ¢ - D

Fl A 3N B % &Y § Uk HH T E
(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB
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97.

97.

97.

97.

97.

GET IT ON
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Find the least number by which 1250 must be multiplied to make it a perfect

square.
(A) 4 (B) 3
(C) 5 (D) 2

Tred B AT 12509 779 FEce 9Bl 7j<faaf FR2y ¢l AR 2
(A) 4 (B) 3
(©) 5 (D) 2

STfE T TR AR 1250 (F @ FCE 7o 95 TR NS IR G FHof e |

(A) 4 (B) 3
(C) 5 (D) 2
1250 @ 377g &7 GIAEAre 6l GARH SHSHIS SHSTeHTTH |
(A) 4 (B) 3
(C) 5 (D) 2

T ~JqH T J1a HisT, 5" 1250 %1 T 901 a7 99 o foIw Jon foRan S =te |

(A) 4 (B) 3
€ 5 (D) 2

98.

98.

When the numerator of a fraction is multiplied by 4 and the denominator by 9,

the fraction reverses. The fraction is

(A) (B)

©) (D)

NSNS, BNS NN
NWw WIN

GBT SR T 4 (T S 295 9 (T 7F FICH SAKON ARSCIN (o110 | S2ACBI (=R

(A) (B)

(€) (D)

NSNS BING U N
Nw WIN
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98. b SRR FACF 4 BT G2 ZACF 9 AN 89 FT 20 SR Teeb I | S =4

4 2
(A) s (B) 3
) 3
(€) 2 (D) 5
98. Sscll HIMY TEEEIN BHE! 4 S ATl A Sdl 9 i, o SEEELen oot fifget| o
ELCICICIEH 1]
4 2
(A) s (B) 3
) 3
(€) 2 (D) 5

98. v forelt firdr & o791 &I 4 ¥ 3R W * 9 W o fohan ST &, 1 frd Ite <fan 21 = firar @

(A) (B)

©) (D)

NSNS IS U
N[ W

99. At what percentage of simple interest does an amount of money double in 12 years?

A) 9X% (B) 8=%
2 2
— % — 0

©) 8l (D) 9~
3 3

99. E] OO (PG oL 12 I2Iq IO (B9 2'(e o] o 2 [Hulel =7 35 2

A) 9X% (B) 8=%
2 2
o) 8l D) 9X%
(€) (D)
3 3

99. ST HE F© *OIA FC Yo 12 JReA 7% 2 2

A) 9<% (B) 8=%
2 2
o) 8l D) 9X%
(€) (D)
3 3
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99. WY M@l S| o4 BR el & AHscll 12 SERE o STEET B STEH?

A) 919 (B) 81%
2 2

©) 81% (D) 9=%
3 3

99. HIYRY =TS o foha TfaRTd W i gmufyr 12 a6t # g & Saft?

A) 919 (B) 81%
2 2
1 1
(C) 8=% (D) 9= %
3 3

100. The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 (B) 2:9
C) 1:9 (D) 6:9

100. %5l &1 IR B2 1 : 3. I8 YOI (FFaerq Sl 23
(A) 1:6 B) 2:9
(C) 1:9 (D) 6:9

100. 76 IS WIS TP 1 : 3. SITE CFEFCT TS 261

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
100. @A WA TEEHRH FerEmE 1 3. TR sifaf sgsmm

(A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
100. < gt it Bt o ogu 1 : 3 ¥ 3T SFthatl 1 ITATd 2

A) 1:6 B) 2:9

(C) 1:9 (D) 6:9
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101. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600
101. 1003 100% J 39 200 3 200% 191 FRCS Foe] 277
(A) 300 (B) 400
(C) 500 (D) 600

101. 100-99 100%-49 3y 200-99 200% 91 FCET FeRFe] 20

(A) 300 (B) 400
(C) 500 (D) 600
101. 100 100% 30 200 200% @ T TFTH
(A) 300 (B) 400
(C) 500 (D) 600

101. 200 % 200% H 100 &1 100% SIS+ 9 Gy 918 2
(A) 300 (B) 400
(C) 500 (D) 600

102. If a+b =8, b+c=20 and a+c=18, then the value of a?+b? is
(A) 34 (B) 43
(C) 46 (D) 64

102. 3 a+b =8, b+c=20TF a+c=18, (%8 a’+ b2 I I 27
(A) 34 (B) 43
(C) 46 (D) 64

102. I a+b =8, b+c=20 93 a+c =18 27 O@ a2 + b2-«d W+ 3¢
(A) 34 (B) 43
(C) 46 (D) 64
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102. Jf a+b =8, b+c=20 AW a+c=18, Al a? + b2 T AMT
(A) 34 (B) 43
(C) 46 (D) 64
102. At a+b=8, b+c=203Ma+c=18, M a?+b2 FMAA 2
(A) 34 (B) 43
(C) 46 (D) 64
103. If 2% =32, then the value of x is
(A) 4 (B)
(C) 6 (D) 7
103. I 2% =32, (@ x I I 2]
(A) 4 (B)
(C) 6 (D) 7
103. Iff 2* =32 2, O x-4F 7 =7
A) 4 (B)
(C) 6 (D) 7
103. Jfe 2% =32, el x T wm
(A) 4 (B)
(C) 6 (D)
103. 7fg 2% =32, dl x F TH 2
(A) 4 (B)
() 6 (D) 7
104. The sum of 5 consecutive odd numbers is found to be 95. The largest of the

numbers is
(A) 17
(C) 23

(B) 21
(D) 19
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104. 55 T SW MR @9 95 (AR 903 | IRANCFEH[ SHIESF T TR (30T
(A) 17 (B) 21
(C) 23 (D) 19

104. 55 GRE SA FRAW @19 95 AN (o1 | MR Ser 0K J2ew(G 27

(A) 17 (B) 21
(C) 23 (D) 19

104. HINA A 5 o9 U SHSHIGRM ISTETEAT 95. FafRgs fae SHfSmeT e
(A) 17 (B) 21
(C) 23 (D) 19

104. 5 AT foud SEet i AN 95 Y& ST & | Fel Sl U §
A) 17 (B) 21
(C) 23 (D) 19

105. If the decimal number 34p5 is divisible by 9, then the value of p is
(A) 8 B) 7
C) 4 D) 6

105. 3 WS 47 34p5 Gl 9 [ [Ferey 37, (9% pd I 27
(A) 8 (B) 7
©) 4 (D) 6

105. I %\ =47 34p5 b 9 =1 ey 27, ©eE p-«3 T+ 2

(A) 8 (B) 7
(C) 4 (D) 6
105. Sfc 3uIHeR SHGMET 34p5 @ 9 it THSAI, 3Tl p T wm
(A) 8 B) 7
(C) 4 (D) 6

105. afe evmed T 34p5, 9 ¥ fawsa B, @ p 1 AH 2
(A) 8 (B) 7
C) 4 (D) 6
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106. The maximum area of the circle that can be drawn within a square of side 4 cm is

(A) 412 cm? (B) 4n cm?
T 2 n? 2

(C) - cm (D) cm
4 4

106. 4 (5. . 2q I6CFq WO fooge fF1 7|l I8 GO AEH CFae] 27

(A) 4n? <sf . . (B) 4m 35 (5. .

(©) %zm‘ . . o) * 2of (5. fil.
4

106. 4 ¢1. . ARME @b I9fCHcas fToE S 1 Jced A (Fawe 2d

(A) 4n? <sf &1. . (B) 4n 3sf ¢1. f.

(©) %zm‘ . . o) ™ 2o 1. f.
4

106. 4 9. . rEnt maT it foeEe o eAm sea T e
(A) 4n? =t @, fin. (B) 4n = @, fir.

© Tt D) ’faﬁa. i

106. 4 To Mo IR & Tk o o iR GiF 1 Tk ATl T4 1 ATerhany SThe 2
(A) 472 =1 Ho Mo (B) 4n 91 Fo Hio

() %aﬁ@o o (D) ’faﬁao o
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107. If today is Sunday, then the day after 92 days will be

(A) Saturday (B) Friday

(C) Sunday (D) Monday
107. If e 99 27, cocg 92 e Ja9 et =7

(A) e (B) W@

(C) <far" (D) CTR™

107. I W& AR =W, Orzce 92 e #icqd e 2
(A) === (B) &I
(C) == (D) CTRER
107. Jfe feaf @ foem, steen 92 wmfy 3@ 71 9 SrTA?
(A) =R (B) YFR
(C) Termm (D) TUaR
107. afe 37t o B, a1 92 fedi % we =1 feq g
(A) rHeR (B) ek
(C) eam (D) BHaR

108. When three times of a given number is subtracted from the square of the number,
the result is the number itself. The number is

(A) 4 B) 2
(C) -2 (D) -4
108. (PG G YA oA #11 Ao ol @ RKemsl FRea 77 G2 ARBICBIEE. CAdl T |
FRACBT (20”
(A) 4 (B) 2
(€) -2 (D) -4
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108.

108.

108.
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35 2 MRE o @9 TRGa 39 (AT R T 2@ AR BeTE R Rmie e

TR | AR 29

(A) 4 (B) 2

©) -2 (D) -4

Sfe wFE SHRSEIH it o amstemeamel a9 dn, Teal {61 o samEE s s
SIS

(A) 4 (B) 2

(C) -2 (D) -4

v foredt wen w1 o\ T 39 wen & o § uer fen S 7, @ ufomm 9@ @en @d 21 a7
e 7

(A) 4 (B) 2

(C) -2 (D) -4

109.

109.

109.

109.

109.

In Roman numeral, XCI represents the decimal number
(A) 41 (B)

(C) 91 (D)

I 71451 XCI @ Il ifas ALICHT (202

(A) 41 (B)

(C) 91 (D)

G e XCI = fofee a1 mifss A4 281

(A) 41 (B)

(C) 91 (D)

™M grEsTE XCI 7 gufies smfsmmen e

(A) 41 (B)

(C) 91 (D)

T @7kt § XCI frg avmers @@ 1 gfafifeea s 2, o8 2
(A) 41 (B)

(C) 91 (D)

21
111

21
111

21
111

21
111

21
111
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110. A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is

(A) 9 m (B) 5 m

(C) 11 m (D) 12 m

110. 13 . 7€/ &<@l quel T3 (ElE e (ZEl @ SR SIF T @799 Il 5 . T
W | (AR AR S G4 9o J99 A6 S iF 799 (20T

A) 9 . (B) 5 fi.
(C) 11 . (D) 12 f.

110. 13 . trcdia @b T2 4Ffb Torg (RS M TSI (2 WCR (A O TR 418 5 .
TN SRS | (TSTCETT AMem G- JBCH “TCve AT Ty ST 79 29

A) 9 fi. (B) 5 fi.
(C) 11 . (D) 12 .

110. 13 . Mee S ToE ST sTEme s 5 1, Siurad 9T 891 dHel | ST et %™

TES ST MerfIH e S 99 ?
A) 9 fu. (B) 5 fu.
(©) 11fa. (D) 12 fr.

110. 13 o Tl T € U FealR R | FH @ 2, Sow a5 e & F9E W 7| dEn
FeafReaRdd F e R F o f dfa i 2

(A) 9 Hio (B) 5 Hio

(C) 11 Hlo (D) 12 #io
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111.

111.

111.

111.

111.

The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is
A) 1 (B) -1
(€) 2 (D) 3
2,-1,3,1,-2,5, 6 FRANGFICOR JYH (2T

(A) 1 B) -1
(C) 2 (D) 3
A @ 2, — 1, 3, 1, -2, 5, 6 -7 WG 2
A) 1 (B) -1
C) 2 (D) 3
sAkm wiik 2, - 1, 3, 1, -2, 5, 6 TerAREN

A) 1 (B) -1
(C) 2 (D) 3
TRl % IgEE 2, — 1, 3,1, — 2,5, 6 WETH ¢
(A) 1 B) -1
(C) 2 (D) 3

GET IT ON
Google Play

112,

A person moves along a path such that he is always away from a given point by
7 m. After moving for some time, he again reaches his starting point. The

approximate distance the person moved during the time is
(A) 22 m (B) 44 m

(C) 122 m (D) 144 m
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112, @& qc2 9% 2fe [T 7/ W 7 W, @ 63 R 93 WWE 7| oo a3 | [Fg A
GCTTCd Ao IR (€ 77T AR ST FT© oo B0 | G2 FTACRIAS (D€ Sfodd F1 79

ST A (20T
(a) 22 f. (B) 44 fx.
(C) 122 fi. (D) 144 .

112, G MG G 96 72 403 5 @ ¢ 7 Gfo [fFE 7 cace 7 W wae q@w ey |
fPg=el I A1 O ORI O e fRee e | @@ e (el ety wfedwe 41

R 797G 2e
(A) 22 f. (B) 44 fi.
(C) 122 f. (D) 144 f3.

112. 99 THRET 3 WS ARG oeE drel st o 2ee fogiem seamet 7 @ meeE o
W U qEEAEH G o= M AEESEE SREE GhiA | § AR ST 98 e

DICIDCIN
(a) 22 . (B) 44 fi.
(C) 122 . (D) 144 fa.

112. UF =fh TF 99 T 36 YR =Fcdl ¢ [ 98 QU T4 U forg & gen 7 Hio T &dl 8| FB R =aeH
% 916 98 J: 3O TRFER f9rg W IgE ST § | 39 §HA % SR ke g1 a9 i T STgHTG

U
(A) 22 Hio (B) 44 o
(C) 122 Hlo (D) 144 Hlo

113. A cube of volume 1 m? is cut equally into smaller cubes of volume 1 cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000
(C) 1000 (D) 1000000
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113. 1 991 . SO T GO 791 1 91 (6. . Sreeq g e g e I Tfereqr =7 |
o1 AF TR TR (2R

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

113. 1 ¥ . SRR G300 T FERH AN SAPET FUed 1 99 O, [, SR T#F [ow
T 2 | AIY T GRS AR 2

(A) 10000 (B) 100000
(C) 1000 (D) 1000000
113. 1 7@ 1. IS M1 T8 T NEE 1 s 9. L A S feaRiE e g, deed
et o SfiEmm=?
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

113. 1 o9 Hio 3=AH 9T Tk 4 1 1 B9 Yo Hio HRAH Tl SIS BH1 § GHE ®9 H el Sl 2| 91y

T B AT hI G 2
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

114. The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 (B) 18
(C) 48 (D) 36

114. 6, 8 TF 12 (T «CF RS RO[G oo FF 4G FANCH! 2
(A) 24 (B) 18
(C) 48 (D) 36

114, [ToN GG 2RI I G2 AN 6, 8 R 12 &Rl [erey, G 2
A) 24 (B) 18
(C) 48 (D) 36
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114, SAMRGE gIRE IS T SHSE SRE! 6, 8 IR 12 S TS, o= STal

A) 24 (B) 18
(C) 48 (D) 36

114. Gl S G qolieh, Sl TF €19 6, 8 3 12 ¥ faursa &, &
A) 24 (B) 18
(C) 48 (D) 36

115. The difference between the smallest 3-digit even natural number and the largest
2-digit even natural number is

A) 1 (B) 2
(C) 3 (D) 4

115. 3-SYS SBIROCT T JA FORP TR B 2-SFYS T I FelP F2AA 195 (20r
(Aa) 1 (B) 2
€ 3 (D) 4

115. 3-9(CF FUoq FORS I MR G 2-S(CF J2e FeI[S I TRYE ¢ A4 23

A) 1 (B) 2
(€) 3 (D) 4
115. gAREE 3-AEfmrTET e s/ oHim TR e 2-amfsmea fieem o911 smfm sra
T BT
(A) 1 (B) 2
€ 3 (D) 4
115. 3 3T il T BT UTHfdeh q9 TEAT 3T 2 k! hl Gl S TThfcrh T TEAT o s 1 3R 3
(A) 1 (B) 2
(€) 3 (D) 4
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116. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

117. From the list below, identify the antonym of ‘cheap’.
(A) Price
(B) Poor
(C) Expensive
(D) Rice

118. What is the synonym of ‘furious’™
(A) Laughter
(B) Witch
(C) Impure
(D) Angry

119. Identify the incorrectly spelt word.
(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle

120. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter
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What is meant by ‘to get the green signal’?
(A) To stop others

(B) To go away

(C) To get permission

(D) To get the keys of a car

122.

Fill in the blank :
Lokesh can jump very .
(A) high
(B) higher
(C) highest
(D) tall

123.

What is the collective noun for ‘fish’?
(A) Swarm

(B) Pack

(C) School

(D) Herd

124.

Fill in the correct conjunctions in the following :

Reshma Padma knew the directions, and now they are lost.

(A) Either, or

(B) Both, and

(C) Not only, but also
(D) Neither, nor

125.

Which of the following punctuation marks is called ‘apostrophe’?
@A) ()

(B) (/)
€ ()
(D) ()
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126.

Which of the following means similar to ‘elevated’?
(A) Topped

(B) Wished

(C) Promoted

(D) Transferred

GET IT ON
Google Play

127.

What is meant by ‘o create a ruckus’?
(A) Make loud noise

(B) An artistic work

(C) Produce music

(D) Bake a cake

128.

Which of the following sentences is correct?
(A) She had not coming to the wedding.

(B) She is not come to the wedding.

(C) She did not coming to the wedding.

(D) She is not coming to the wedding.

129.

Choose the correct option :
We ___ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed

130.

Which of the following pronouns refers to ‘myself’ ?

(A) We

(B) They
(C) I
(D) You
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131.

Identify the incorrectly spelt word.
(A) Damsel

(B) Wicked

(C) Volcano

(D) Mountein

GET IT ON
Google Play

132.

Identify the correctly spelt word.
(A) Mongrel

(B) Marval

(C) Martal

(D) Middel

133.

Identify the preposition in the following sentence :

The cat was sleeping under the cot.
(A) Sleeping
(B) Under
(C) Cot
(D) Was

134.

Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best

135.

Identify the verb in the following sentence :
Neeraj ran very fast.

(A) Very

(B) Neeraj

(C) Fast

(D) Ran
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136.

Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

137.

What would be the antonym of ‘friend’ ?
(A) Foe

(B) Unfriend

(C) Dislike

(D) Buddy

138.

From the list below, identify the synonym of lament’.
(A) Sad

(B) Mourn

(C) Copied

(D) Molecule

139.

Which word is incorrectly spelt?
(A) Basically

(B) Essentially

(C) Primarily

(D) Varbally

140.

Give one-word substitution for life history of a person written by another person’.
(A) Autobiography

(B) Biography

(C) Monograph

(D) Bigamy
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141.

What does ‘in a nutshell’ mean?
(A) Peanuts and almonds

(B) Very tough explanation

(C) Expressed in short

(D) Important discussion

GET IT ON
Google Play

142.

Fill in the blank :

Tuhin ran than Zubin to win the race.

(A) fast

(B) faster
(C) fastest
(D) fasting

143.

Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack

144.

Which of the following punctuation marks is called ‘hyphen™

A ()
(B) (/)
€ ()
(D) ()

145.

What is the opposite of ‘sorrow’?
(A) Joy

(B) Happy

(C) Laugh

(D) Beauty
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146.

Which of the following means ‘to get rid of a problem’?

(A) To hammer it out

(B) To get to the bottom of

(C) To get the monkey off one’s back
(D) To get the acts together

GET IT ON
Google Play

147.

Identify the grammatically incorrect sentence.
(A) T want to go home now.

(B) I wish to go home now.

(C) I shall go home now.

(D) I went to go home now.

148.

Choose the correct option :
Is your brother __ to the gym?
(A) gone
(B) going
(C) go
(D) went

149.

Which pronoun is used for ‘non-living thing’ ?
(A) I

(B) We

(C) Us

(D) It

150.

Identify the incorrectly spelt word.
(A) Monkey

(B) Moniker

(C) Matress

(D) Molten
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